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Question Description The line, “They also serve who only stand and wait”, occurs in-----
A John Donne’s “A Valediction Forbidding Mourning”

B W. B. Yeats “When You are Old and Grey”

c Emily Dickinson’s “Best Things Dwell out of Sight”

D John Milton “On His Blindness”

E None of the above

Correct Answer D

Marks 1



Question Description Match the following titles of books on Literary Criticism/Literary theory with the names of their respective authors/editors.

1. The New Historicism (A)I.A. Richards
2. Marxism and Literature (B) H. Aram Veeser
3.4 Subaltern Studies Reader ... (C) Cheryll Glofelty & Harold Fromm
4.Ecocriticism: A Reader (D) Raymond Williams
(E) Ranjit Guha
A 1-(B);2-(A);3~(E);:4-(C);
B 1-(B);2-(D);3-(E);4-(C);
c 1-(A);2-(C);3-(B);4-(D);
D 1-(D);2-(A);3-(C);4-(B);
E None of the above
Correct Answer B

Marks 1



Question Description Match the following contemporary Indian writers in English and their well-known works

(A) Sudha Murthy (1) The Shiva Trilogy

(B) Devdatt Pattanaik (i1) Bookless in Baghdad

(C) Amish Tripathi (iil) How I taught My Grandmother to Read
(D) Shashi Tharoor (iv)Myth=Mithya

(V) The Inheritance of Loss

A (A) and (iii);(B) and (iv); (C) and (i); (D) and (i)
B (A) and (v);(B) and (ii); (C) and (iv); (D) and (iii)
c (A) and (ii);(B) and (iii); (C) and (iv); (D) and (v)
D (A) and (iv);(B) and (i); (C) and (iii); (D) and (i)
E None of the above

Correct Answer A

Marks 1



Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Identify from the following options, the dramatist and scholar who coined the term “theatre of the Absurd” and popularized it.

Martin Esslin
Bertolt Brecht
Samuel Beckett

Eugene Ionesco

None of the above

A
1

From the first line of the poems below, identify the sonnet by John Donne
“Earth has not anything to show more fair...”

“Death be not proud, though some have called thee...
“My mistress’ eyes are nothing like the sun...”

“Much have I travelled in the realms of gold...”

None of the above



Question Description Identify the critic who has authored the oft-referred volumes on the History of English Literature and Literary Criticism -------

A David Daiches

B Frank Kermode

c James Frazer

D E. M. Forster

E None of the above

Correct Answer A

Marks 1

Question Description The process by When a Source Text from one script or dialect of a natural language is transferred into another script as a Target Text,

without compromising the meaning, mood and rhythm of the original, the process is known as ------

A transmutation
B transmediation
c translation

D transliteration
E None of the above
Correct Answer D

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

Correct Answer

Marks

The metrical units generally used in the conventional English lyric poetry is known as the

iamb

allophone

syllable

phoneme

None of the above

A
1

blue eagle

blessed doe

albatross

black raven

None of the above

C
1



Question Description Identify from the options given below, the poem which has a revised title from its original title “Laon and Cythna”:

A Robert Browning’s My Last Duchess

B Alfred Lord Tennyson’s The Lady of Shallot
c P. B. Shelley’s Revolt of Islam

D S. T. Coleridge’s The Ancient Mariner

E None of the above

Correct Answer Cc

Marks 1



Question Description Match the following names of novelists with the titles of their novels

(1) William Golding (A)Mayor of Casterbridge

(1) George Eliot (B) The Inheritors
(ii1) James Joyce (C) Mill on the Floss
(iv) Thomas Hardy (D) Portrait of a Lady
(E)Ulysses

A (H-(D); (i)-(C); (iiD)~(E); (iv)-(B)

B (D-(A); (iD)-(C); (ii)~(D); (iv)-(B)

c (D-(B); (i)-(C); (iii)-(D); (v)-(A)

D (D)-(B); (i)-(C); (iiD)-(E); (iv)-(A)

E None of the above

Correct Answer D

Marks 1



Question Description

Correct Answer

Marks

“A complex, lofty literary expression making far-fetched comparison between the spiritual aspect of the subject and a physical thing” is

called ------
expansive simile
extensive analogy
metaphysical conceit

exaggerated metaphor

None of the above

C
1



Question Description From the titles listed below, identify the play which is a problem play:

A Eugene O’Neill’s Mourning Becomes Electra
B Henrik Ibsen’s 4 Doll’s House

c William Shakespeare’s Love’s Labour Lost

D George Bernard Shaw’s Pygmalion

E None of the above

Correct Answer B

Marks 1

Question Description A dance style that tells a story with music, but without words is called------
A ballet

B eclogue

c mime

D operetta

E None of the above

Correct Answer A

Marks 1



Question Description ‘I am too intelligent, too demanding, too resourceful for anyone to be able to take charge of me entirely. No one knows or loves. I have
only myself”.

The Feminist critic who made the above statement 1S --------

A Mary MacCarthy

B Virginia Woolf

c Elaine Showalter

D Simone de Beauvoir
E None of the above
Correct Answer D

Marks 1



Question Description John Keats termed “the poetic capacity to efface one’s own mental identity by spontaneously immersing it with sympathy and into the

subject described” as---

A poetic sensibility
B historical sense

c negative capability
D erasure of identity.
E None of the above
Correct Answer C

Marks 1



Question Description

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Read the following statement and identify from the options provided, the one that is not relevant to describe it: :“Discourse analysis is
a research method.”,

for studying language in relation to its social context
it applies to sign language
it may cover the study of any semiotic events

it does not cover written or spoken language

None of the above

D
1

Which of the following poem is not an example of an elegy?
Walt Whitman’s “O Captain! My Captain!”

John Milton’s “Prelude -Book I”

Alfred Lord Tennyson’s “In Memorium A.H.H.”

Robert Bridges’ “Among the Tombs”

None of the above



Question Description Edgar Allan Poe, the well-known American Short Story writer, is also famously known for his poem ------ )

A “To The Nightingale”

B “The Cuckoo”

c “The Raven”

D “To a Nightingale”

E None of the above

Correct Answer C

Marks 1

Question Description Select the novel with stream of consciousness technique from the options:
A Lord of the Flies by William Golding

B

For whom the Bell Tolls by Ernest Hemingway

c The Sound and the Fury by William Faulkner
D Pride and Prejudice by Jane Austen

E None of the above

Correct Answer Cc

Marks 1



Question Description

Correct Answer

Marks

Question Description

‘I am a Jew. Hath not a Jew eyes? Hath not a Jew hands, organs, dimensions, senses

Complete this statement by using an appropriate option from those provided below:

worries and tensions
affections, passions
feelings and passions

loves and affiliations

None of the above

Match the following feminist critics and their outstanding works

1. The Second Sex (A) Sandra Gilbert and Susan Gubar
2.4 Literature of their Own., (B) Elaine Showalter

3. Sexual Politics (C) Mary Ellman

4.The Mad Woman in the Attic (D) Kate Millet

(E) Simone de Beauvoir

1-(C);2-(B);3-(A);4-(D);



Correct Answer

Marks

1-(E);2-(B);3-(D);4-(E);

1-(D);2-(C);3-(A);4-(B);

1-(A);2-(C);3-(D);4-(E);

None of the above



Question Description The Shakespearean sonnet is written with the rhyme scheme ---------- )

A abbaabba- cdeded
B ababcdcdefef gg
c abba abbacdecde
D ababbcbcededee
E None of the above
Correct Answer B

Marks 1



Question Description Read the following statements and say whether they are correct or wrong.
(1) A short story may be defined as a crafted piece of prose fiction that aims at evoking a single effect and focuses on a self-
contained incident.

(i1) It can be aptly described as a shorter version of a novel.

A statement (i) is correct; statement (ii) is wrong
B statement (ii) is correct; statement (i) is wrong
c Both the statements (i) and (ii) are wrong

D Both the statements (i) and (ii) are correct

E None of the above

Correct Answer A

Marks 1



Question Description

A

Correct Answer

Marks

Question Description

A

Correct Answer

Marks

Besides the iambic pentameter, the three other commonly used metrical types in English are ----------------
decasyllabic, octosyllabic and monosyllabic
trochee, dactyl and anapaest

didactic, syllabic, accentuated

blank verse, terza rima and octosyllabic

None of the above

The minimal unit of a language that cannot be divided is ------------- .
morph

parole

allophone

morpheme

None of the above

D
1



Question Description

A

Correct Answer

Marks

Question Description

From the names of authors awarded the Nobel Prize for Literature, identify the one who declined the prize.
Nadine Gordimer
Jean-Paul Sartre

Octavio Paz

Margaret Atwood

None of the above

Match the titles of the plays with the names of their playwrights
(1) Long Day’s Journey into the Night (A) Bertolt Brecht

(i)Murder in the Cathedral (B) Eugene O’Neill
(ii1) Threepenny Opera (C) Henry Miller
(iv)Waiting for Godot (D) Samuel Beckett

(E) T. S. Eliot



A (i) and (B); (ii) and (D); (iii) and (E); (iv) and (C)

B (i) and (B); (ii) and (E); (iii) and (A); (iv) and (D)
c (i) and (B); (ii) and (E); (iii) and (A); (iv) and (C)
D (i) and (C); (ii) and (A); (iii) and (E); (iv) and (B)
E None of the above

Correct Answer B

Marks 1



Question Description Complete the following passage using an appropriate phrase provided in the options below it:
“O what a piece of work is man! How noble in reason! How infinite in faculties! In form and moving how express and admirable! In

action how like an Angel/ In apprehension how like a god, /The beauty of the world, / The paragon of animals. /And yet to me, what is

this --- --- --- ?”
A arbour of arrogance
B quicksand of time
c quintessence of dust
D paragon of virtue
E None of the above
Correct Answer C

Marks 1



Question Description Read the following statement: “When on the shores of the wide world I stand alone and think”, and from the options provided below,

identify the title of the poem where in it occurs, along with the name of its poet.

A “The Solitary Reaper” by William Wordsworth

B “When I Have Fears That I May Cease to Be” by John Keats
c “Ode to West Wind” by Percy Bysshe Shelley

D “When I Consider How My Light Is Spent” by John Milton
E None of the above

Correct Answer B

Marks 1



Question Description Non-poetic writing intended to instruct, to persuade, to convert, or to convey experience or reality through factual or spiritual

revelation is termed as ----

A religious treatises
B non-fiction prose
c rhetorical writing
D non-poetic fiction
E None of the above
Correct Answer B

Marks 1

Question Description Which one of the following essayists wrote under the pseudonym Alpha of the Plough?
A Robert Lynd

B Bertrand Russell
c Arnold Bennett

D A. G. Gardiner

E None of the above
Correct Answer D

Marks 1



SN PRl T The theory which considers “social estrangement of people from aspects of their human nature as an outcome of living in stratified

social classes” is the --------

A Theory of subalternity
B Theory of alienation
c Cultural Poetis

D Marxism

E None of the above
Correct Answer B

Marks 1

Question Description What predominant figure of speech is seen in the quote: “If Winter comes can spring be far behind?
A Euphemism

B Synecdoche

c Rhetorical Question

D Antithesis

E None of the above
Correct Answer C

Marks 1



Question Description Polysemy is a linguistic term ------------- .

A having repetitive meanings
B with two or more distinct meanings
c denoting smallest unit of a semantic structure
D with politically oriented double meaning
E None of the above
Correct Answer B
Marks 1
Question Description The following critic has described new historicism as “a reciprocal concern with historicity of texts and textuality of history”
A (a) Catherine Gallagher
B (b) Louis Montrose
c (c) Stephen Greenblatt
D (d) Stephen Hazel
E None of the above
Correct Answer B

Marks 1



Question Description “If Winter Comes Can spring be far behind?”

The above line occurs in

A Percy Bysshe Shelley’s “Ode to West Wind”

B John Keats” “Lamia”

c William Wordsworth’s “Ode: Intimations of Immortality”
D John Donne’s “Death! Be not Proud”

E None of the above

Correct Answer B

Marks 1



Question Description Match the following works of writing for children with the names of their respective authors.

1. The Famous Five (A)J. K. Rowling

2. Tom Sawyer (B) Richard Adams
3. Jungle Book (C) Mark Twain
1. Harry Potter (D) Rudyard Kipling
(E)Enid Blyton

e 1-(B); 2-(E); 3-(D); 4-(A)

= 1-(E); 2-(B); 3-(A); 4-(D)

© 1-(E); 2-(C); 3-(D); 4-(A)

v 1-(B); 2-(C); 3-(A); 4-(D)

E None of the above

Correct Answer C

Marks 1



Question Description A figure of speech which express es an unpleasant thing in a pleasant way is known as the -----------------

A epigram

B euphemism

Cc epilogue

D allusion

E None of the above
Correct Answer B

Marks 1

Question Description The view which holds that, “technological and economic aspects play the primary role in shaping a society”, derives from -----
A literary culture

B new historicism

c cultural materialism
D cultural poetics

E None of the above
Correct Answer C

Marks 1



Question Description This view privileging the text per se over its author and terming the author as a mere “scriptor” who is “born simultaneously with the
text” is attributed to -----

A Gayatri Spivak

B Jacques Derrida

c Roland Barthes

D Ferdinand de Saussure
E None of the above
Correct Answer C

Marks 1

Question Description The play not meant to be performed on stage but to be read by a solitary reader, or out aloud to a small group is known as ------
A Absurd drama

B Closet drama

(o Melodrama

D Classic drama

E None of the above
Correct Answer B

Marks 1



Question Description Read the following statements and say whether they are true or false:
(i) A Problem play deals with controversial social issues in a realistic way.

(i1) It exposes social ills to stimulate thought and discussion on the relevant issues towards social change.

A statement (i) is true; statement (ii) is false
B statement (i) is false; statement (ii) is true
c statements (i) and (ii) are both false.

D statements (i) and (ii) are both true

E None of the above

Correct Answer D

Marks 1



Question Description Detached presentation of loosely related episodic sequence, interspersed with songs and commentary by a chorus or a narrator, which

created a formidable dramatic convention during the last century ”, is known as the ----------

A theatre of the absurd

B popular theatre

c epic theatre

D amateur theatre

E None of the above

Correct Answer C

Marks 1

Question Description A quote or statement that occurs in a literary work as a forerunner to its content and which may function as a clue to its theme or focus

is known as the -------------

A epilogue

B epitaph

c epigram

D epigraph

E None of the above
Correct Answer D

Marks 1



Question Description Read the following statements carefully and select the incorrect statement:

A Self-alienation is the process of distancing oneself from one’s own feelings or activities.

B Self-alienation may gradually manifest as a drift into social isolation.

c Self-alienation is the cause of being a mechanistic part of a social class.

D Self-alienation is a symptom of emotional distress and may occur in case of mental illness.
E None of the above

Correct Answer C

Marks 1



Comprehension Read the following passage and answer the questions given below:

“Ere yet the salt of most unrighteous tears/ Had left the flushing in her galled eyes, / She married: - O most wicked speed, to post/With
such dexterity to incestuous sheets! /It is not, nor it cannot come to good; /But break my heart, -- for I must hold my tongue!”

Question Description This passage occurs in Shakespeare’s well-known play
A Hamlet, Prince of Denmark

B Macbeth

c Julius Caesar

D King Lear

E None of the above

Correct Answer A

Marks 1



Comprehension Read the following passage and answer the questions given below:

“Ere yet the salt of most unrighteous tears/ Had left the flushing in her galled eyes, / She married: - O most wicked speed, to post/With
such dexterity to incestuous sheets! /It is not, nor it cannot come to good; /But break my heart, -- for I must hold my tongue!”

Question Description The passage reveals the speaker’s sense of deep
A loss, frustration, nostalgia

B guilt, pain and desperation

c betrayal, treachery and helplessness

D suicidal tendency

E None of the above

Correct Answer C

Marks 1



Comprehension Read the following passage and answer the questions given below:

“Ere yet the salt of most unrighteous tears/ Had left the flushing in her galled eyes, / She married: - O most wicked speed, to post/With
such dexterity to incestuous sheets! /It is not, nor it cannot come to good; /But break my heart, -- for I must hold my tongue!”

Question Description The predominant figure of speech in the lines “O most wicked speed, to post/With such dexterity to incestuous sheets! * ----
A synecdoche

B transferred epithet

c hyperbole

D alliteration

E None of the above

Correct Answer B

Marks 1



Comprehension Read the following passage and answer the questions given below:

“Ere yet the salt of most unrighteous tears/ Had left the flushing in her galled eyes, / She married: - O most wicked speed, to post/With
such dexterity to incestuous sheets! /It is not, nor it cannot come to good; /But break my heart, -- for I must hold my tongue!”

Question Description The name of the female character, to whom these lines allude, is------
A Portia

B Lady Macbeth

(@ Gertrude

D Cordelia

E None of the above

Correct Answer C

Marks 1



Comprehension

Question Description

Correct Answer

Marks

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has

improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

According to the passage, the Emperor refused to live in a palace because

he was the Emperor

his country suffered a defeat in the war

his people were rendered homeless by war

he did not wish to live better when his people were homeless and suffering hardships

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has
improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

The residence of the Emperor is peethily described in the passage as

a luxurious palace

hardly the place Emperor would have chosen to live in

wet for most of the time

a bomb-shelter

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has
improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

Find a word or phrase from the passage which means “dismiss as unacceptable, inadequate or faulty”

refused

rejected
accepted the advice
chosen to live

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has
improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

Select the option that is closest in meaning to the statement : “The Emperor refused to live in a luxurious palace”

The Emperor denied living in a luxurious palace”

The Emperor rejected staying in a luxurious palace”
The Emperor deprived himself from living in a luxurious palace”
The Emperor indicated that he was not willing to live in a luxurious palace”

None of the above



Comprehension

Question Description

A

Correct Answer

Marks

Read the Passage Below and answer the questions

Since the end of the last World War, the Emperor has several times rejected the suggestion that a new palace should be built for him or
that his existing quarters should be suitable reconstructed. The Emperor refused to live in a luxurious palace, because millions of his
people were rendered homeless during the war, their standard of living had fallen and they were subject to various kinds of hardship.
The Emperor and the Empress have, therefore, continued to live in the bomb-shelter. This is hardly the place the Emperor would have
chosen to live in, as the floor of the bomb-shelter is wet for most of the time. In the last few years, the economic condition of Japan has
improved. The Emperor has, therefore, accepted the advice of his ministers that a palace should be built for him.

The bomb-shelter can be aptly described as the

palace of the Emperor at present

current residence of the Emperor
present royal palace
current location of the Emperor

None of the above



Question Description World Bamboo Day is being observed on which date?

A September 18

B September 17

(03 September 19

D September 20

E None of the above

Correct Answer A

Marks 1
Question Description Who are the Star Indian Wrestlers chosen for the World Senior Championships in 2022?
A Yogeshwar Dutt and VineshPhogat
B Deepak Punia and Ravi Kumar Dahiya
C Bajrang Punia and VineshPhogat
D Ravi Kumar Dahiya and Sakshi Malik
E None of the above
Correct Answer C

Marks 1



Question Description India's first and one of the world's largest carbon fibre plants, Reliance Industries is being set up in which state?

A Rajasthan
B Guijarat
C Maharashtra
D Uttar Pradesh
E None of the above
Correct Answer B
Marks 1
Question Description India's first Lithium Cell Manufacturing plant is launched in which state?
A Arunachal Pradesh
B Madhya Pradesh
C Jharkhand
D Andhra Pradesh
E None of the above
Correct Answer D

Marks 1



Question Description India's first Forest University to be established in which of the following states?

A Guijarat

B Rajasthan

C Telangana

D Uttar Pradesh

E None of the above
Correct Answer Cc

Marks 1

Question Description World's largest museum of Harappan culture is going to be set up in which Indian state?
A Guijarat

B Rajasthan

(03 Uttar Pradesh

D Haryana

E None of the above
Correct Answer D

Marks 1



Question Description World Ozone Day is being celebrated on which date?

A September 13
B September 17
C September 16
D September 11
E None of the above
Correct Answer C
Marks 1
Question Description Who was named the Mumbai Indians' first head coach for the IPL 2023 season?
A Mark Boucher
B Virender Sehwag
C Ajit Agarkar
D Sunil Gavaskar
E None of the above
Correct Answer A

Marks 1



Question Description Which city has become the new capital of Kazakhstan?

A Hungary
B Kiev
(3 Nur Sultan
D Astana
E None of the above
Correct Answer D
Marks 1
Question Description INS Vikrant, India's first home-built aircraft carrier, has formally commissioned at which place?
A Naval Dockyard, Vishakapatnam
B Goa Shipyard Limited
C Bombay Dockyard
D Cochin Shipyard Limited
E None of the above
Correct Answer D

Marks 1



Question Description On 8th Dec, 2007 Saturday falls. What day of the week was it on 8th Dec, 2006?

A Sunday

B Thursday

(o Tuesday

D Friday

E None of the above
Correct Answer D

Marks 1



Question Description Find correct mirror image

]

>
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D _

A

~J ;
E None of the above
Correct Answer C

Marks 1



Question Description A tank is filled in 5 hours by three pipes A, B and C. The pipe C is twice as fast as B and B is twice as fast as A. How much time will pipe A alone take to fill

the tank?
A 20 hours
B 25 hours
C 35 hours
D Cannot be determined
E None of the above
Correct Answer C
Marks 1
Question Description The angle of elevation of a ladder leaning against a wall is 60° and the foot of the ladder is 4.6 m away from the wall. The length of the ladder is:
A 23m
B 4.6 m
Cc 7.8 m
D 9.2m
E None of the above
Correct Answer D

Marks 1



Question Description Read the given information carefully and answer the questions given beside:
A Car moves 8m from Point A in the north direction to reach Point B. Then it turns and moves for 10m in north-west direction. Then it turns and moves 8m in south direction. Then it turns right and
moves for 3m to reach point C, which is in west direction with respect to Point B. Then finally, it turns and moves for 10m in south-west direction to reach Point D, which is west direction with
respect to Point A.
What is the shortest distance between Point A and Point D?

A 12m

B 15m

C 17m

D 20m

E None of the above
Correct Answer B

Marks 1

Question Description A man buys a watch for Rs. 1950 in cash and sells it for Rs. 2200 at a credit of 1 year. If the rate of interest is 10% per annum, the man:
A gains Rs. 55

B gains Rs. 50

Cc loses Rs. 30

D gains Rs. 30

E None of the above
Correct Answer B

Marks 1



Question Description At 3:40, the hour hand and the minute hand of a clock form an angle of:

A 120°
B 125°
C 130°
D 135°
E None of the above
Correct Answer C
Marks 1
Question Description Statements: Prime age school-going children in urban India have now become avid as well as more regular viewers of television, even in households without a

TV. As a result there has been an alarming decline in the extent of readership of newspapers.
Conclusions:
I. Method of increasing the readership of newspapers should be devised.

II. A team of experts should be sent to other countries to study the impact of TV. on the readership of newspapers.

A Only conclusion | follows
B Only conclusion Il follows
C Either | or Il follows

D Neither | nor Il follows

E None of the above
Correct Answer D

Marks 1



Question Description 5. What does the area marked 1 in the figure given below represent?

Advocates
Honest

>
Swimmers Europeans
A All honest European swimmers
B All honest advocates who are swimmers
C All no-European advocates who are honest swimmers
D All non-Europeans who are honest swimmers
E None of the above

Correct Answer C

Marks 1



Question Description Study the following information carefully and answer the questions given beside.

Micky is brother in law of Akku, who has two daughters but no son. Rinku is cousin of Quki and brother of Riku. Vicky has two daughters and one son. Unni has only one son and one daughter.
Micky is the only sibling of Wiku. Tinu and Sanu are daughters of Xoxo. Donu is also the member of this family. Riku is granddaughter of Akku, who is married to Wiku. Unni and Vicky are sons in
law of Wiku.

How is Wiku related to Donu?

A Father

B Mother

C Grandfather

D Can't be determined
E None of the above
Correct Answer D

Marks 1



